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CS309 RolINo.: cccivniinvnninnenen
JAVA TOOLS

fraffa e Ve ) [srfreman 3% : 30

Time allowed : %2 Hour] [Maximum Marks : 30

qr . () ageT Afvard & wd gEE a1 AE FE |
Note : All Questions are compulsory and each question is of 1 mark.
(i) 3 e & s @i @ Rerfy  sinst s & A @ 1
Only English version is valid in case of difference in both the languages.

1. i s, VO wefta w3 €
(@ lvonus®
®b) VoWFAd
(0 fema
(d) FERQ

2. SHaT ¥ 3Rl % % B Fed &
@@ f&m
(b) W
(© TR
(d) wATH

3. oo TN AT 4 Bl ¥
(a) Java.applet
(b) Java.awt
(¢) Javaio
(d) Java.util

Java programs perform I/O through
(a) I/O methods

(b) 1/O package

(c) Streams

(d) Compiler

A sequence of characters called in
Java

(a) String

(b) Array char

(¢) Group char

(d) Collection

The applet class is in
package

(a) java.applet

(b) java.awt

(c) javaio

(d) java.util

P.T.O.



CS309

4.

T ¥ B W Y OF G Ot TS
AR A& & 2

(a) switch (b) for
(c) while (d) do.... while
T T S 3R et ¥, HEerd &
(a) gREFT™H
(b) TEFE
(c) TEHEFH
@) Feifeawemw

e, UiteRT Folg isae 3
PHIET @l aE AT X
_ dye, 3w o H el &
TS Bl g HEA € |

(a) paint(), update( )
(b) repaint(), paint( )
(c) update(), paint()
(d) paint(), paint()

T AW & B T1 AN e §
feust s 2

import java.awt.*;

import java.applet.*;

public class myapplet extends applet {
public void paint (graphics g) {
g.drawstring (“A simple Applet”, 20,
20);

}

}

(a) A simple applet

(b) A simple applet 20 20

(c) Compilation error

(d) Runtime error

fr Qs =i & HE BT §, 99 TF
TS I FT E

(a) init(), start( ), create( )

(b) start( ), init( ), paint( )

(c) init(), start( ), paint( )

(d) T AP

2
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Which of the following is a loop that
will always be executed once ?

(a) switch (b) for
(¢) while (d) do.... while

A class that is inherited is called a

(a) superclass
(b) subclass

(c) subsetclass
(d) relativeclass

The method takes a graphics
class object as a parameter. The
method draws the graphics of
the applet in the drawing area.

(@) paint(), update()

(b) repaint( ), paint()

(c) update(), paint()

(d) paint(), paint()

Which message is displayed in the
applet made by this program ?

import java.awt.*;

import java.applet.¥;

public class myapplet extends applet {
public void paint (graphics g) {
g.drawstring (“A simple Applet”, 20, 20);
}

3

(a) A simple applet

(b) A simple applet 20 20

(¢) Compilation error

(d) Runtime error

Following sequence of method calls
take place when an applet begins :

(a) init( ), start( ), create( )
(b) start(), init( ), paint()
(¢) init(), start( ), paint( )
(d) none of these
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9.

10.

11.

12.

13.

14.

F TGRS T Ao Th el &

(a8 Running, idle, born, dead
(b) Idle, running, born, dead
(¢) Born, running, idle, dead
(d) Running, dead, born, idle

i fr s A memidat &
forT g 31T Yok T FHEART &

@) TFEATH

(b) WA

(o) Fmm

(@) Tt

e § 4 D9 T Ay, Mihe T H
FE?

(a) drawRectangle( )

(b) fillCircle()

(¢) drawArc()

(d) drawOval()

U AR HI
THNE |

(a) DrawRectangle()
(b) DrawRectangle
(c¢) drawrect()

(d) drawRect()

oqg § ST ST

AWT &1 [0 AW &

(a) Applet Windowing Toolkit
(b) Abstract Windowing Toolkit
(¢) Absolute Windowing Toolkit
(d) SR q B =

oz g oo ZEee an e @t & o
o ar o & Wt &, B @ € 2 s
I AT WY 927, aefnes Tt &
qHA € |
(@ W&
(©) fa=t

(b) %
(d FHETW

&)

10.

11.

12.

13.

14.

2170

Life cycle of an applet-

(a) Running, idle, born, dead
(b) Idle, running, born, dead

(¢) Born, running, idle, dead
(d) Running, dead, born, idle

The selection and separation of a part
of a image for further operation are
called

(a) Translation

(b) Rotation

(c¢) Reflection

(d) Clipping

Which of the following is not a
method of Graphics class ?

(@) drawRectangle()
(b) MfiliCircle()

(¢) drawArc()

(d) drawOval()

A rectangle can be drawn by using
the method.

(a) DrawRectangle()
(b) DrawRectangle
(c) drawrect()

(d) drawRect()

Full form of AWT

(a) Applet Windowing Toolkit
(b) Abstract Windowing Toolkit
(c) Absolute Windowing Toolkit
(d) None of the above

Which is the container that contain
title bar and can also have Menu
Bars ? It can have other components
like button, textfield etc.

(a) Panel (b)
(¢) Window (d)

Frame

Container

P.T.O.
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15.

16.

17.

18.

19.

20.

Samenfian 9 st ¥

(a) ol SRR H wE AR B
FeA W AFAE |

(b) vl RYE F IWEM H
A S YHATE |

() ageua, UH I TR E |

(@) Sewecfn, nirw Ht fovdt A
o Fugi o S A g ¢ |

T FE B W@ aEst ¥ ufenfya
B &2

(a) java.io (b) javalang
(c) javanet (d) java.util
T ¥ 9 ol W T W
[UEE € ?

(a) Applet

(b) Component event

(c) Event

(d) Inputevent

TRFERTR 320hY, TRH <8 &
¥ed w0 vgH FaT ¥ | S|EO H
foru, & v 9 o ST

(a) JButton &

(b) JCheckbox &

(c) JMenultem |

(d) SRiad adt

JEC T Q0 A &

(a) Java Foundation Classes
(b) Java File Component
(¢) JavaFinal Class

(@ I d T

oot oy Toperent forgar ForoRoT <0 € 2
. T IEEE s ad ¢ |

- ¥ FEEd e @ed €
- FWMVCHICHA IS |
(a) f&m

(b) we=gA

() () 3R ()

(d) SR d Q@

15.

16.

17.

18.

19.

20.
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TextArea means

(a) A TextArea can handle multiple
lines of text.

(b) A TextArea can be used for
output.

(c) A TextArea is not a class.

(d) Textareas are used for

displaying graphics.

Event class is defined in which
library ?

(a) java.io b)
(c) javanet (d)

java.lang
java.util

Which of these is superclass of all
adapter classes ?

(a) Applet

(b) Component event

(¢) Event

(d) Inputevent

The Actionlistener interface is used
for handling action events. For
example, it is used by a

(a) JButton

(b) JCheckbox

(¢) JMenultem

(d) All of these

Full form of JFC is

(a) Java Foundation Classes
(b) Java File Component

(¢) JavaFinal Class

(d) None of the above

Following

whom

—  It’s components are lightweight

- It’s components are platform
independent

- It follows MVC

(a) Swing

(b) AWT

(©) (a)and(b)

(d) None of the above

advantages  specifies
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21.

23.

24,

25.

26.

JDBC @ St ¢ |
(a) Java Database Connectivity
(b) Java Database Components

(c) Java Database Control
(@ IFE A FE T

7} 3% JDBC F 1@ € ?
(a) javajdbc 3T javax.jdbe
(b) javajdbe 30 java.jdbe.sql
(¢) java.sgl 3 javax.sql

(d) javardb 3R javax.rdb

JDBC ST 3 TR Fomd B W E 2
(a) JDBC g B

(b) JDBC TRET IHRE Y2

(c) JDBC-ODBC s

(d) Wi g

JDBC ¥ frime W= Jew,

FT T AUT TEROT F B T
w1 ¥ AR o frer e 92 sifstae
R wn ¥ ?

(a) executeUpdate( )

(b) executeQuery()

(c) execute()
(d) noexecute()

TEOIE T SA-Te AT STl &
() TR FRTE

(b) TIIE HFTW Y

(c) TR Wbt |

(d) S o

)

21,

22.

23.

24.

25.

26.
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JDBC stands for

(a) Java Database Connectivity
(b) Java Database Components
(c) Java Database Control

(d) None of the above

Which packages contain the JDBC
classes ?

(a) javajdbc and javax.jdbc
(b) java.jdbc and java.jdbe.sql
(c) java.sql and javax.sql

(d) java.rdb and javax.rdb

Which class has been the backbone of
the JDBC architecture ?

(a) JDBC driver manager
(b) JDBC driver text suite
(c) JDBC-ODBC bridge
(d) All mentioned above

Prepared statement object in JDBC
used to execute queries

(a) Executable
(b) Simple

(¢) High level

(d) Parameterized

Which method executes a simple
query and returns a single result set
object ?

(a) executeUpdate( )

(b) executeQuery()

(c) execute()

(d) noexecute( )

The life cycle of a servlet is managed
by
(a) Servlet context
(b) Servlet container
(c) The supporting protocol
(d) All of the above
P.T.O.
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217.

28.

29.

30.

H O HYE HttpServlet Response
T HE 2

(a) SendRedirect()

(b) SendError( )

(¢) SetIntHeader( )

(d) I it

HttpServietRequest T=Ih® B W
Yo g FE ¥ o e O fowew
TAET?

(a) getContextPath()

(b) getServletPath()

(c) getPathInfo()

(d) SWE Q@

T F A ap A A da T 9
Hoe JET AT € ?
init( )
service( )
destroy( )
stop( )

5. wait()

(@ 1,2,3,4,5
Mb) 1,2,3

() 3,4,5

@ 1,45

Ll o A

T ¥ B 91 ReA<T FiE Jaoie &

fore s & 2

(a) R Taele, Qe & T & =it
http 3T WG T& & THATE |

(b) R Feele | http ] a1 € |

(¢) R wEele & I service ( )
T e e |

(d) i wdde, A Tt e w@
http Ra 31 @ et 68 ST
€, STt gz 3t < STl € 1

6

27.

28.

29.

30.
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Which is method of
HttpServletResponse interface ?
(a) SendRedirect( )
(b) SendError()
(¢) SetlntHeader( )
(d) All of the above

Which option is true for
HttpServletRequest  interface  to
access path information ?

(a) getContextPath( )
(b) getServletPath( )
(c) = getPathInfo( )

(d) none of the above

Which of the following methods are
main methods in life cycle of servlet ?

1. init()

2. service()
3. destroy()
4. stop()

5. wait()

(@ 1,2,3,45
b 1,2,3

) 3,4,5

@ 1,45

Which of the following statement is

false about the GenericServlet ?

(a) GenericServiets is for servlets
that might not use http.

(b) http is implemented in
GenericServlet

(¢) The GenericServlet has a
service () method.

(d) GenericServlet is called by both
incoming requests and the http
requests are given to the serviet.

s
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2016
JAVA TOOLS
fraifa wm  dR ) [erfirman 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

Fz . () TN a8, oIy § @ et wiw & S T3 1
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) gl g & @it ST 1 FHAR OF AT &6 BT |
Solve all parts of a question consecutively together.
(iii) TF T 93§ T IR FHT |
Start each question on a fresh page.
(iv) a7 srer F s @i @ Feafer o sfast srgER @ A &
Only English version is valid in case of difference in both the languages.

1. () SdeeFMEM@L?
What is Servlet ?
(i) TYAE A H FN IFA & 2
What is use of Applet Tag ?
(iii) Tt = wweEd |
Explain Clipping.
(iv) JFC Class T AWT Class H 3f€ SR¢ |
Differentiate JFC Class and AWT Class.
(v) Wi sietwe T AT ?
What is Statement object ? (2x5)

2. () T e @ g e @ geeed |
Describe architecture of Java program in detail.
(i) ST ¥ fafr Beier WA=y H wHEd |
Explain various control statements of J AVA. (6x2)

) P.T.O.
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(it)
Y
(i)
5. ()
(i1)
6. (i)
(i)
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(i1)

(8) 2170

ez % ek P GU FIRAT | E b ) W S W § A |
Explain Applet life cycle. Discuss each stage of life cycle in brief.

11 Tueie Here i 9EETEd

Explain the following applet methods :

(a) Repaint ()

(b) Setforeground ()

(c) Showstatus () (6,2%3)

e & fem woel fafm & & fae woele s fafag |

Write the applet code to draw tricolour flag in Java.

Uit wE uieiensd i fafia we o v faf fafat @ ao @i

Explain various methods used to draw polygon and polylines. (6x2)

AWT &3a & fafi=r wer 7 &ia & 2 7 ot afra o gaems |
What are the various types of AWT controls ? Discuss each in brief.
TF T T Tty Ud U TR0 Foid 8§ F41 TEY ¢ 2 W |

What is relationship between an event listner interface and an event adapter
class ? Explain. : (6x2)

&1 931 & Jtable T JscrollPane HEAE H qUH HIAT |

Explain Jtable and JscrollPane Components of swing Package.

Feieidt Uiy anfhewa ot foRaR @ W |

Explain JDBC application architecture in details. (6x2)

ke Sfe o i fawr § Twened |
Explain servlet life cycle in detail.

Ao €Y T A § 2 SRS Gaeie T &l ot gusEd |

What is servlet interface ? Also explain Generic servlet class. (6x2)

8. = ur dfre femfort fefiae -

Write short notes on following :

®
(i)

JCombobox
FaU WA Rei=

Query prepared statement

(iii) T HR

Servlet Container (4x3)



